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[image: image2.jpg]5/79 In the four-bar linkage shown control link OA has
a counterclockwise angular velocity wy = 10 rad/s
during a short interval of motion. When link CB
passes the vertical position shown, point A has co-
ordinatesx = —60 mm andy = 80 mm, By means
of vector algebra determine the angular veloeity of
AB and BC.

Problem 5/79





[image: image3.jpg]5/71 The unit at A consists of a high-torque geared mo-
tor which rotates link AB at the constant rate § =
0.5 rad/see. Unit A is free to roll along the hori-
zontal surface. Determine the velocity v, of unit A

when f# resches 60°.

Probiem 5/71





[image: image4.jpg]576 Horizontal motion of the piston rod of the hydrau-
lic cylinder controls the rotation of link OB about
O. For the instant represented, v, = 2 m/s and
OB is horizontal. Determine the angular velocity
o of OB for this instant.
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